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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(iv) 397 G&IT6 — 8 31K 21 — 23 TG F0T J97 8, J% To7 3 3% &1 3| G4t Fo) & T
TTHT=Ia: 60 31551 & 3719% 7 &1 /|

v) T FEIT9 — 11 37K 24 — 26 T8 51 TG IT0T J97 &, IAH J97 4 3% &1 & T4 7971
& I =T 70 I155) & 3778 7 &7 |/

(Vi) I GEIT12 — 15 3K 27 — 30 &5 FT07 597 8. 5c9% 997 3 6 3% & | Gl 971 & T
T 100 3151 @ 37185 7 87 /|

(vii) T Fo71 & IR GISTT T T2 517 T30 T TG [H557aR J1g Tar & Hiat
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General Instructions :
(i)  All questions in both sections are compulsory.
(ii)  Marks for questions are indicated against each question.

(iii) Question number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each. They are required to be answered in one sentence.

(iv) Question number 6 — 8 and 21 — 23 are short answer questions carrying 3 marks

each. Answers to them should not normally exceed 60 words each.

(v)  Question number 9 — 11 and 24 — 26 are also short answer questions carrying
4 marks each. Answers to them should not normally exceed 70 words each.

(vi)  Question number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as
far as possible.
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SECTION - A

1. Tret 9% ol AT o%q e AHT ATAT 8 7 1

When is a good considered a normal good ?

2. P GO (JIFM) TR, Q ITEH HET 3R ‘n’ $hTS shi HTAT &I, a1 EHa qemy I8
(A) *ad TR, - TR _,
TR ¥ qiEdH
(B) 9" Fafead
(C) (A) 3T (B) g
(D) 3IWIh § ° His oft T& 1
Let TR be total revenue, Q be quantity of output, and ‘n’ the number of units, then
marginal revenue equals : (choose the correct alternative)
(A) TR, -TR, _, only
Change in TR
(B) Change in Q only
(C) Both (A) and (B)
(D) None of the above

3. 3TCUhITcIh ITC Hoad shl TRHTST SIfTT | 1

Define short-run production function.

4. 3EH sl 3 feskanali Y wet g A @ - (| faewed gfi) 1
(A) <had ot fcRnfirar &
(B) hdoT UehIT&ehRIcHeh Tt o
(C) (A) 3T (B)THI &
(D) 3THTURR §
There are large number of buyers and sellers in : (choose the correct alternative)
(A) Perfect competition only
(B) Monopolistic competition only
(C) Bothin (A) and (B)
(D) Oligopoly
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5. freaq fuife fa g = Ao g 7 1

What is meant by price floor ?

6. hsid G “foptreh foTu Icred feparn ST wweATsT | 3
YT
HT TS “ohd Sedred foRa ST wHesT |
Explain the central problem “for whom to produce”.

OR

Explain the central problem “how to produce”.

7. Ueh TIfaTARIeh ScdTe SHTEAT a3k 3Tddel (concave) 1 8ldT 8 ? THEAST | 3

Why is a typical production possibility curve concave ? Explain

8. IS U I hi hiTd T 1 Ul $oh1S T ageRt T 2 Ufd 3ohTE 81 STl ], Y $Eeh! | 100 TS
T TR 50 IHTS Bl M1 & | SHeh! ShIAd HITT AT hT Tiehai <hIfoT | 3

When price of a good rises from X 1 to I 2 per unit, quantity demanded falls from 100
units to 50 units. Calculate its price elasticity of demand.

9.  Ueh a&] I Yftd I TWTTerd i ATt feheel TR hReR! shi SATEAT HIRT | 4

Explain any four factors that affect the supply of a good.

10.  “wimra wmma 3R Hivrd st (Fenf)” faft gro Scared w1 ade SR Saist, | 370 3

o e SR ST | 4
#r S Fer e Hiura e
Q) (3%7) Q)
6 1 10 10
6 2 15 5
6 3 21 6
6 4 28 7
6 5 37 9
JAYdT
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Uil STaTal o T b <fiA =T <ht qge HifT | R i |

qRad! AT T 3G
(3T3) (3T%)

1 3

2 7

3 10

4 12

5 11

Identify the equilibrium level of output using “marginal cost and marginal revenue”

approach. Give reasons for your answer.

Price Output Total cost
Marginal cost
® (units) ®
6 1 10 10
6 2 15 5
6 3 21 6
6 4 28 7
6 5 37 9
OR
Identify the three phases of the law of variable proportions. Give reasons.
Variable input Total product
(units) (units)
1 3
2 7
3 10
4 12
5 11
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11.  ITCAThR T9R i “Fo B faewar 37 386k TR THemsy | 4

Explain the feature “few firms” and its implications in an oligopoly market.

12.  Ueh IJUMIRHT hadl € ST X 3T Y T 3TN LT 3 | STANTTAT forgetsor & grr Sueih
e i 3T q9FTsT | 6
A consumer consumes only two goods X and Y. Explain the conditions of

consumer’s equilibrium using utility analysis.

13. GHITEY T Teh IHHH o5F (%) o€ F ¢ = 61 3R goral 317 (@) 39 (convex)
BATe | 6

YT

AT T & el STEURO 3R Tfdfieeh SHYHM 956 W 38 FagR FHems |
Toh HEATCHh &N T | §8eh SATER bl HROT ff 1T |
Explain why is an indifference curve (a) downward sloping from left to right and
(b) convex.
OR

Explain the concept of Marginal Rate of Substitution and its behaviour along the
typical indifference curve. Give a numerical example. Also give reason for its

behaviour.

14. T Ak T8 FRUT W Tiehl GeU SAMIR I[E il & | SGE™ H 3101 & g=d Sl aral
2 | SIIE 1 JaY 98 WF Al 2 | 398 Y 9 W 98I 6l S Geh a1l T8 AT
3R affed T SaT8y | 379 3T % fofT i df | 6

An individual undertakes retail business in the premises taken on rent. The business is
financed by his own savings. He also manages the business himself. What are the
explicit costs and implicit costs in it directly identifiable ? Give reasons for your

answer.
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15. HqoH SR F9iG & % 14,000 ST W18 & | 38 A S0 L THR =IdH HIG I e
% 18,000 Wfd TTE KX <l & | 38 Fuia o aformi shi =amen il | @t &1 S

it | 6

The equilibrium market wage rate is ¥ 14,000 per month. The government finding it
low fixes minimum wage rate at ¥ 18,000 per month. Examine the implications of this
decision. Use diagram.

Had giEEH et @ fore weq 9@ 15 % ®WH W

For the blind candidates only in lieu of Q. No. 15

I TG T % FgoM SR Agl @ § ATk et F % afom it smen
FHITTT | T T&ATTHS IETETT T FFNT HIFT |

Explain the implications of fixing minimum wage rate higher than equilibrium market
wage rate. Use a numerical example.

g -9
SECTION - B
16, Frafafigd 3w & @d mh Sy sifon e weard ¢ - (T8 faes ghw) 1
(A) ITTEvIhdT3 i T B
(B) ®HH fawzg
(©) (A)@ (B) qHI
(D) STIRE | & IS oft 7

Goods purchased for the following purpose are final goods : (choose the correct
alternative)

(A) For satisfaction of wants
(B) For investment in firm
(C) Both (A) and (B)

(D) None of the above

17. aTifesh Tehet ] 3CATE | AT AT 8 2 1

What is meant by real gross domestic product ?
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18. fr=faifigd & @ & @1 sycs w7 7 (T faepey gfo) 1
(A) TMHH
(B) i
(C) Hr e
(D) STER
Which one of the following is an indirect tax ? (choose the correct alternative)
(A) Profit Tax
(B) Wealth Tax

(C) Customs duty
(D) Gift Tax

19.  FHRI F1e H IS TTeRi <l aiedmsT i | 1

Define capital receipts in a government budget.

20. WA 4 fRud v i e faey o foud ueh et § fae et 8 | 9Ra & T
T @A § g Tie gal fohall SITaT 8 « (Tt forehed gfw) 1

(A) T @M o i< (credit) 7& |
(B) e @M o Sfee (debit) 7eT |
(C) YSTHTA @Td o shise (credit) 981 §
(D) YSTHTd @Td o Sfe (debit) 981 §

An Indian company located in India invests in a company located abroad. This
transaction is entered in India’s balance of payments account on : (choose the correct
alternative)

(A) credit side of current account
(B) debit side of current account
(C) credit side of capital account

(D) debit side of capital account
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21. RO <ot JaT3T T Frmferfaa & wne fia 3 v Tne R SIegr e S @ 3
(i) % gRI 319 STHTHTIST sl ST 1 YTAM |
(i) FERR R I Y IH W= |
(iii) R TfdH WA gRT 94 & df W |
Giving reason state how the following are treated in estimation of national income :
(1)  Payment of interest by banks to its depositors.

(1i1)) Expenditure on old age pensions by government.

(ii1)) Expenditure on engine oil by car service station.

22. EHid 3T Yai SR Hiuid s=d Y # o ST ST 8 ? Sl o S o Hee B 7 3
FeET
THI T E AT A § ? 36 Feeh qaTsy |

What is the difference between marginal propensity to consume and marginal
propensity to save ? What is the relation between the two ?

OR

What is meant by aggregate demand ? State its components.

23. % 500 IS 1 AfITE I i T TF 3™ § T 2500 HAUS i Jhg Bt & | Fom
T[UTeh ST TheT SHITTT | 3

National income increases by ¥ 2500 crore when an additional investment of I 500
crore is made. Calculate the value of investment multiplier.

24, HH AT <o H I S U R Ifqae o e SIar 7 | 3696 () Hebel He] TG
3R (W) HeATT T IS Tl YT shl SIRSHT SHIfT | 4
YT

TehTIcHeh STE{ THTE (SRUTTcHeh STl ShRUT) B T oh sheTT UL T JHTd ISl & 7 Uh
ICTELT okt ST hITTT |

Suppose a ban is imposed on consumption of liquor in the country. Examine its
effects on (a) gross domestic product and (b) welfare.

OR

How do the negative externalities affect the welfare of the people ? Explain by taking
an example.
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25. =t fafue smfea iy srgam 20 wfiera g 3R =8 SmE 2 1000 &, @ ST sfhi g
TG G ! TsHAT GHesy | 4

If the legal reserve ratio is 20 percent and new deposits ¥ 1000, explain the process of
credit creation by commercial banks.

26, TR IR afg e i e W (f e o) 6 e A | 4

Explain the role of Reverse Repo Rate in increasing money supply.

27. ‘o= 3R fEw fafy g U o & gge W) 1 Ty awense | Wrtes w1 S
Hifore | 7 oft TmEsT o 9fe s=a e @ stfees 8 at = wvme B | 6

Explain the determination of equilibrium level of national income using ‘saving and
investment’ approach. Use diagram. Also explain the effects if saving is greater than
investment.

et SR TR 3 RIS T 27 F WA W

For blind candidates only in lieu of Q. No. 27.

AT AT 3R 97 qd f9f & T 37 o1 g WX HaRer S i s=a iR e fafy

ITH SIS, | HEETST 91 BT AT¢ S=d a1 § 371 & | 6

Derive saving and investment approach from aggregate demand and aggregate supply
approach for determination of equilibrium level of national income. Explain what
happens if saving is greater than investment.

28. THR RIS W1 ¥ i % UNER 1 3F 6l JE9Ih 0e AT & ISH L § |
TR ST G TR DI A1 Ie9 YU HL T JIcT L Tl 8 3T HA ? THST | 6

YA
HHSEY FLhHT S51¢ g 3Tk TRientor 1 329 o8 UTH foran ST Eehar 8 7

Government provides essential items of food grains almost free to the families below
the poverty line. Which objective the government is trying to fulfil through the
government budget and how ? Explain.

OR
Explain how the economic stabilization objective can be fulfilled through the
government budget.
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29. fer (fq) fafma ot st o=ieht () fofoma e s s e hifse | afe fafm e fid
2 38 (ITd 37 37T W IS It THTE hl ST shifog | 6

Distinguish between the fixed exchange rate and the floating exchange rate. If

exchange rate falls, explain its effects on exports and imports.

30. () HHH AN W et <fiF 3cme 3 (@) Tohed TFA TS 3T T YHehai shifoT : 6

R AZ)
(i) AT 50
(i) FriTer! gr e e s 40
(iii) Ty o 9 30
(iv) 1t Yoft ST 3w 60
v) fareeni =t fraet R 3™ 20
(vi) Tt fFrrfera & <kt wfauria s 20
(vi) = 150
(vii) =19 foea w1 et =T gEaa (-) 10
(ix) o 100
(x) IEERRCRIOIIICTY 70
(xi) HUTRET b7 qTR e 600
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Calculate (a) Net Domestic Product at Factor Cost and (b) Gross National Disposable

Income :
R Crore)
(1) Dividends 50
(i1) Social security contributions by employers 40
(iii) Corporate profit tax 30
(iv) Consumption of fixed capital 60
(v) Net factor income to abroad 20
(vi) Retained earnings of private corporate sector 20
(vii) Interest 150
(viii) Net current transfers to rest of the world (-) 10
(ix) Rent 100
(x) Net indirect tax 70
(x1) Compensation of employees 600
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